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An oil drop of radius 2 mm with a density 3 g cm ™~ ? is held stationary under a constant

electric field 3.55 x 10° V m ! in the Millikan’s oil drop experiment. What is the number of

excess electrons that the oil drop will possess ?
Consider g=9.81 m/s?
Options :
~ 10
86435115391, 173 %10

r 10
86435115392, 1-72 > 10

7 12
86435115393, 170 > 10

y 11
86435115304, 8-8%10

Question Number : 1 Question Id : 8643515131 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Tafererta sifaer 219 WM °, Faa fomm &9 3.55x 105V m~ 1 & 3149 v 9a #it 92 ot B
2 mm #R T 3 g om 3 7, I Feom T wen ¥ 1 O F g5 W SR AAfud soragH wt 2E

=

B :

(AFT g=9.81 m/s?)
Options :
rr 10
86435115391, 1/ * 10

o 10
86435115392, 1-72 > 10

= 12
86435115393, 172 > 10

; 11
86435115304, 28-8%10

Question Number : 2 Question Id : 8643515132 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A constant power delivering machine has towed a box, which was initially at rest, along a

horizontal straight line. The distance moved by the box in time “t’ is proportional to :
Options :
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86435115395, £/2

¢1/2
86435115396.

{2/3
86435115397.

86435115398. :

Question Number : 2 Question Id : 8643515132 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e wife yom F Ael UF A o | T A w R afas 9w % e g
F1 v wE T =i g ad e g freferaa 3 9 e srsmaea 2 ?

Options :

86435115395, /2

{1/2
86435115396.

{2/3
86435115397.

L
86435115398.

Question Number : 3 Question Id : 8643515133 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Four identical long solenoids A, B, C and D are connected to each other as shown in the
figure. If the magnetic field at the center of A is 3 T, the field at the center of C would be :

(Assume that the magnetic field is confined with in the volume of respective solenoid).

B
A m
> 0000 O

D
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Options :

86435115399, 1 T

86435115400. a3

86435115401, 0 T

2
86435115402. e

Question Number : 3 Question Id : 8643515133 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
IR FIEH Tt gfEfasE A, B, C 3R D %1 UH-g5 & Wy feaar @3y fe w21 afe
AF FERGEIE 33 T &, T C F Fs W I=HE & & ;
(qr T T, g 8, 51 aiAfaeel S e % ofia afEs #1)
B

Options :

86435115399, 1 T

86435115400. 3t

86435115401. s

2
86435115402. e

Question Number : 4 Question Id : 8643515134 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The P-V diagram of a diatomic ideal gas system going under C}-’CHC process as shown in

figure. The work done during an adiabatic process CD is (use y=1.4) :

A |
200N/m2f-—------ <
,f \\
|
10,08, 1 > . ¥ g
B! .
| | |
| | |
P ; ko
| | |
| | |
| | |
| | |
| | |
| | |
| | |
| | |
1 | |
1 3 4
— » V(md)
Options :
400 J
86435115403,
86435115404, 200 ]
86435115405, 200 ]
400 ]
86435115406.

Question Number : 4 Question Id : 8643515134 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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I WoFH H TR T fEREEF ey T8 & P-V g & 5§ 290 T ¥ CD ¥ ey T
WehH H o a5 2R (v = 1.4 F1 S9ErT FHifau)
A D
20 NS s r=mmmn=n <
N\
|
0 N/ m2 | oosanpze 5 —NC
B Lo
| | |
| | |
P I P
| | |
| | |
| | |
| | |
| | |
| | |
| | |
| | |
| | |
1 3 4
— % V(md
Options :
86435115403, 200 J
86435115404, 200 ]

86435115405, 200 ]

0]
86435115406.

Question Number : 5 Question Id : 8643515135 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The position, velocity and acceleration of a particle moving with a constant acceleration can

be represented by :

Options :
86435115407.
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Question Number : 5 Question Id : 8643515135 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Traa =o 9 ifgam fel 5o =1 feafa, 3 A = 51 efaiag § 9 fFas g soran < 9
27
Options :
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86435115407.
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Question Number : 6 Question Id :

Question Mandatory : No

.
2@ _-
o
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_b' t
()
e
e
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8643515136 Question Type : MCQ Option Shuffling : Yes Is

Correct Marks : 4 Wrong Marks : 1
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An AC source rated 220 V, 50 Hz is connected to a resistor. The time taken by the current to
change from its maximum to the rms value is :
Options :

86435115411, = ™S

86435115412, = WS

86435115413, 22 ms

86435115414, 22 S

Question Number : 6 Question Id : 8643515136 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T 220 V, 50 Hz 318 % Sediedl 9/ &id 1w gfade | Sen @ g 9w #, S69E
AT AH H rms H H TREfad 29 H 0 F99 20

Options :

86435115411, = ™S

86435115412, = WS

86435115413, 22 ms

86435115414, 22 S

Question Number : 7 Question Id : 8643515137 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In Young's double slit arrangement, slits are separated by a gap of 0.5 mm, and the screen is

placc-d at a distance of 0.5 m from them. The distance between the [irst and the third hright
frf_nge formed when the slits are illuminated ‘m a monochromatic Iight of 5890 A is :

Options :

7 12
86435115415, 1178 X107 “m

86435115416, 2890 %107 " m
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- 9
86435115417, 1178107 " m

1178 x 10" ® m
86435115418.

Question Number : 7 Question Id : 8643515137 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T A4 F e sgaen §, v # i & @ 0.5 m T 9o Al F 9 gueT 05 mm 1 9=
faftai 1 5890 A TTe=d % UHAV & T J WHI9A fohan S €, 6 weel a9 et <t el &
Options :

12

86435115415, 1178 X107 “m

86435115416, 2890 <10~ m

- 9
86435115417, 1178>x107 " m

1178 10" ®m
86435115418.

Question Number : 8 Question Id : 8643515138 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A particle is travelling 4 times as fast as an electron. Assuming the ratio of de-Broglie
wavelength of a particle to that of electron is 2 : 1, the mass of the particle is :

Options :

86435115419. 8 times the mass of e

1
— times the mass of e
86435115420, 16

86435115421, 16 imes the mass of e

3
— times the mass of e

86435115422, O
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Question Number : 8 Question Id : 8643515138 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T FU1 ST 1 A H =GR TE A F =9 W@ g1 AfG w1 SR erae § o-siiell aurest &
3T 2 : 1 71, 1 91 =1 Z=99H TR

Options :
86435115419, © T moadrd I & T
2 i
e~ % ZHUA H — T
86435115420. 16
e~ % ZFHHE H 16 T
86435115421.
%:EFETHFTEFT:E
86435115422, g

Question Number : 9 Question Id : 8643515139 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The time period of a simple pendulum is given by T = Q.TJI. The measured value of the
g

length of pendulum is 10 cm known to a 1 mm accuracy. The time for 200 oscillations of the

pendulum is found to be 100 second using a clock of 1 s resolution. The percentage accuracy

in the determination of ‘g’ using this pendulum is “x". The value of ‘x" to the nearest integer

1s,
Options :
2%
86435115423.
3%
86435115424,

o

86435115425.
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o

86435115426.

Question Number : 9 Question Id : 8643515139 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

WWWWW \J FWW%I et i o Bl 10 cm, 1 mm JLTEaT
&

F WY I T E | e 2 200 Srel &6 WA 1 s [T arelt 32 " 100 s T e’ F 9E F
TH WA i® R 9@ F |9 999 W) AfavE JE o 81 ‘2’ 1 AE fAweaw gonE |

T :
Options :

2%
86435115423.

3%
86435115424.

4%
86435115425.

5%
86435115426.

Question Number : 10 Question Id : 8643515140 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Imagine that the electron in a hydrogen atom is replaced by a muon (). The mass of muon
particle is 207 times that of an electron and charge is equal to the charge of an electron. The
ionization potential of this hydrogen atom will be :

Options :

3.6 eV
86435115427, 100 €V

86435115428, 27-2 eV

86435115429, SoL.2 eV

> 2 F
86435115430, 25122 eV
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Question Number : 10 Question Id : 8643515140 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Foal Hifay f el eEsem wom # soaei &1 FgeiH (w) 9 faenfm = &1 g9 ==
FHM SO o ZHME 1 207 AT 991 A, Sela2[ F AGY F S0 €| 59 SSEre TWH H
A faya 2

Options :

4 '
86435115427, 106 €

86435115428, 27-2 eV

lj
86435115429, o012 eV

> 2 J
86435115430, 25122 eV

Question Number : 11 Question Id : 8643515141 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A radioactive sample disintegrates via two independent decay processes having half lives

14 and 15 respectively. The effective half-life, Tlé of the nuclei is :

Options :

1
Tl T 2 2
86435115431. /2 /2

86435115432, - 2 /2
R )

T o B

% SO R 6)

1/ 1/

86435115433, e

86435115434, Lvone of the above
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Question Number : 11 Question Id : 8643515141 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
- = = * ] (&l r . {1} | {2} o . =
e e 9, < T 99 giEmae fow Sﬁiﬁliﬁiﬁﬂfryi aﬂI'TLg € 4 fafa 2@ g ==

A iyt A Ty 1 7 2

Options :

i

=, b L
86435115431. 2 /2
DO T

/2 s 15
86435115432. , /2
L
Ve T{ 1) T{ 2)

1/ y
86435115433, 2 /2
86435115434, ST o | I T

Question Number : 12 Question Id : 8643515142 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A loop of flexible wire of irregular shape carrying current is placed in an external magnetic
field. Identify the effect of the field on the wire.

Options :
86435115435, shape of the loop remains unchanged

R6435115436. Ioop assumes circular shapc- with its pla_ne normal to the field

26435115437, loop assumes circular shape with its plane parallel to the field

86435115438 wire gets stretched to become straig,ht

14/91
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Question Number : 12 Question Id : 8643515142 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

el R 9 SAfatag sk | = FiE o, e oaw yeanfed 2 @ E Al e a9 1 @
T T 29 F G W A9 H TE=E S

Options :

86435115435, 3a P STHIA STIHMEA @

06435115436, T T BRI SR THH Tl & F SAferearad 2

86435115437, =

86435115438. o TR

Question Number : 13 Question Id : 8643515143 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the experiment of Ohm'’s law, a potential difference of 5.0 V is applied across the end of a
conductor of length 10.0 cm and diameter of 5.00 mm. The measured current in the conductor

is 2.00 A. The maximum pr_-rmissiblc- percentage error in the resistivity of the conductor is :

Options :

86435115439, -9

1
o

86435115440.

86435115441.

86435115442,

Question Number : 13 Question Id : 8643515143 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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M & 198 % 990§, T 10.0 cm @ TE 5.00 mm =99 & 966 & 880 W 5.0 V # FaEm
I T €| AT | A TE SR A 2.00 A T | ATeish Hi ol § Sfusan oEg vfave
EICAIE
Options :

86435115439, -9

86435115440, /2

86435115441, °-4

86435115442. 3.0

Question Number : 14 Question Id : 8643515144 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The time period of a satellite in a circular orbit of radius R is T. The period of another satellite
in a circular orbit of radius 9R is :
Options :

86435115443. <

< )
86435115444.

86435115445.

86435115446.

Question Number : 14 Question Id : 8643515144 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Tl 2vmre 1 52 R =1 geiig el § siadere T 81 Tl 3171 STire =1 f5o1 9R =1 geiia e |
AT 1

Options :

86435115443, > L
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86435115444.

'j.ﬂ
86435115445, 2/ T

12T
86435115446.

Question Number : 15 Question Id : 8643515145 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In a series LCR resonance circuit, if we change the resistance only, from a lower to higher

value :
Options :

86435115447, The resonance requency will increase

86435115448, The bandwidth of resonance circuit will increase

26435115449, The quaht}-' factor will increase

The qualitv factor and the resonance frequ ency will remain constant
86435115450. = g

Question Number : 15 Question Id : 8643515145 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
foRel 4uil LCR &8t 99y § afs 29 aa giaiy &1 99 91 ¥ 3= %1 AR 9fidfdd =4, 1
Options :

Haq]éﬁ H[qiﬁ aa' ;ﬂl’il’]’ﬂil
86435115447, '

SAET IRY 1 4 J12E 9¢ e

86435115448.

86435115449. T e

86435115450, ‘ :
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Question Number : 16 Question Id : 8643515146 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Your friend is having eye sight problem. She is not able to see clearly a distant uniform
window mesh and it appears to her as non-uniform and distorted. The doctor diagnosed the
problem as :
Options :
26435115451, Myopia and hypermetropia

2643511545, Lresbyopia with Astigmatism

86435115453, (stigmatism

86435115454, Myopia with Astigmatism

Question Number : 16 Question Id : 8643515146 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A7 To=t =1 gfie < =t gwen B 9% Tt g faest 1 uhaae el 1 9@ & 72 < et @
3R 72 Wl 39 FEAA SR fawfiq faarg 3t 31 =t o0 ww e # FeM 39 TR F 2
Options :

86435115451.

8643511545, 11 Fr2a AR afsrga
: g

86435115453.

e gftedm iR sfagawa

86435115454.

Question Number : 17 Question Id : 8643515147 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What will be the average value of energy along one degree of freedom for an ideal gas in
thermal equilibrium at a temperature T ? (kg is Boltzmann constant)

18/91



3/18/2021

Options :

kT
86435115455,

86435115456.

3
3

86435115457.

',.J|r,_1'

86435115458.

Question Number : 17 Question Id : 8643515147 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A9 T R aE wrEEe | oey 19 F fou uwe mes Fifz F oEfaw, e # oiwd o
BN 7 (ky—AreesHA fadin)

Options :

kT
86435115455,

86435115456.

3
g

86435115457.

'_,J|m'

86435115458.

Question Number : 18 Question Id : 8643515148 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List - I with List - IL

List - 1 List - 11

(a) 10 km height over earth’s surface

(b) 70 km height over earth’s surface

(i)  Thermosphere

(ii) Mesosphere
(c) 180 km height over earth’s surface (iify Stratosphere

(

(d) 270 km height over earth’s surface
Options :

iv) Troposphere

s6435115450 @H(E), (b)-(ii), ()-(i), (d)-(1)

86435115460, @) (D), (1), (d)-(iv)

86435115461, @r(i), (B)-(1), (c)-(iv), (d)-(iii)

26435115462, (@D, (b)-(iv), (c)-(iii), (d)-(ii)

Question Number : 18 Question Id : 8643515148 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
-1 =1 FeAi-11 9 foemsy |
-1 -1

(a) 9T F 9= H 10 km F9E T (i) oHPRER (9= 91 qUEd)
(b) 9=t F 9= H 70 km F9E T (i) HHERER (FEHUEA )

(c) 9T F IS H 180 km F98 W (iii) FLORE (THAT AU )
(d) I F YL H20kmF9E W (iv) ZAERER (&)
Options :

86435115459, @ (), (B)-(ith), (€)-{11), (d)-(1)

s6435115460. (D), (B)-(ii), (c)-(i), (d)-(iv)
86435115461 (@) (H), (b)-(1), (c)-(iv), (d)-(ii1)

26435115462, @D, (b)-(iv), (c)-(iii), (d)-(ii)
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Question Number : 19 Question Id : 8643515149 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A plane electromagnetic wave of frequ ency 100 MHz is travellf_ng_ in vacuum a_long the

—

x-direction. At a particular point in space and time, B = 2.0 x 107% k T. (where, k is unit

vector along z-direction) What is E at this point ?
(speed of light c=3x10° m/s)
Options :

06 j V/m
86435115463.

86435115464, 00 1 V/m

6.0 k V/m
86435115465,

86435115466, 00 K V/m

Question Number : 19 Question Id : 8643515149 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
U 9Hae faeagEEg o fauE A 100 MHz @ x99 F sefew faa § wfa = @ )

9 3R gaa w5 R faem fag w, B HHA2.0x10-8 k T ¥ (e, E,z—mﬁmﬁﬁm
Ui Afew ®) | 39 fag W E o1 HE B

(9191 &1 A, c=3 % 108 m/s)

Options :

06 j V/m
86435115463.

86435115464, 00 7 V/m

60 k V/m
86435115465,

21/91
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86435115466, 0 K V/m

Question Number : 20 Question Id : 8643515150 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A thin circular ring of mass M and radius r is rotating about its axis with an angular speed w.
Two particles having mass m each are now attached at diametrically opposite points. The

angular spr_-r_-d of the ring will become :

Options :
M
N bM 4+ m
86435115467.
v
y ———
M+ 2m
86435115468.
M —2m
e =
b 4+ 2m
86435115469.
M+ 2m
by —
\Yl
86435115470.

Question Number : 20 Question Id : 8643515150 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
TS TaeT JATHR Ferd, Toree Z=mE M 3R 5531 ¢ § o1 919 & 9fia:, ‘o’ FI0E =91e 9 g0
@I 2| < AT FHil h fFTH I 1 Z2EE m E M F 3 farid fagsl S g ) sw aen
7_{?:“[ - n E‘-\T =~ .
Options :

M
M+ m

(1h

86435115467.

M
R - 1
M+ Zm

o

86435115468.
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M—2m
“ M+ 2m
86435115469.
M + 2m
oy ———
86435115470. e
Physics Section B
Section Id : 864351344
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351344
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 8643515151 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

An npn transistor operates as a common emitter amplifier with a power gain of 105 The
input circuit resistance is 100 £} and the output load resistance is 10 k{). The common emitter
current gain ‘B will be . (Round off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 21 Question Id : 8643515151 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

T npn T2 106 I A= F SWAFTS Scaes AfaE=ma &1 oifd y=ed = @ 8 e
aftqy =1 wfedig 100 O 7o fria v gfeds =1 96 10 kQ 81 I9afs Seqsis 9n @fs g7 &1 961
@ (e g H)

Response Type : Numeric
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :
100

Question Number : 22 Question Id : 8643515152 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A ball of mass 10 kg moving with a velocity | 10+/3 m/s along the x-axis, hits another ball of

mass 20 kg which is at rest. After the collision, first ball comes to rest while the second ball
disintegrates into two equal pieces. One piece starts moving along y-axis with a speed of

10 m/s. The second piece starts moving at an angle of 30° with respect to the x-axis.
The velocity of the ball moving at 30” with x-axis is x m/s.
The configuration of pieces after collision is shown in the figure below.

The value of x to the nearest integer is

Y-axis ¢ piece 1

71=10m/s
\K’ X - axis

)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643515152 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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I[Jky_ﬁﬁﬂﬁﬂﬁ%ﬁ{,i{]ﬁxnf&;%ﬁﬁ@lx—a‘fﬂ?ﬁHﬁmﬂﬂﬁ@fﬁﬂqﬁ@mk}ﬁﬁﬁﬂﬁw
FAI &1 HAZ F G, Tell g foR H SN WG € 991 g9 5 & WA Zhel § 22 ol g1 U
THE y- AL F AW 10 m/s F S Y A FEA ALY FHA S FAF T TH - AG T 30° F0
T HE W T
x—34 H 30° % B T T FH et 78 H AT x m/s B
Hug % o€ THel & T = A4 faa § fommn @ )

TRl x HIAA Fheaa Qs B

y-A&T y gHE11
v1=10m/s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 8643515153 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The voltage across the 10 () resistor in the given circuit is x volt.

50 )
—VVW\ MWy ?
— 20 0

g
I 170V ?

The value of ‘2" to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
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Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 23 Question Id : 8643515153 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

fau Tmu gftay § 10 Q wiFy % fodi 92 dieed « =iee 2

50 0
—ANN—
100 20 0)
170V
| o
TRy AR e iR @Fmi

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643515154 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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B
10 m

hﬂt“ﬂa”ﬂtﬁl
qut face

Y

As shown in the figure, a particle of mass 10 kg is placed at a point A. When the particle is
slightly displaced to its right, it starts moving and reaches the point B. The speed of the

particle at B is x m/s.
(Take g=10 m/s?)
The value of “x’ to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643515154 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
A

F 3

B
10m

afe T2

Y

TR, 10 kg Z599F F1 FE 0 a5 A WT@I €| 579 59 &0 &1 9121 9 21 AR faeenfia fan
ST 2, G e el YRE F @ AR B W Ui €1 0 i BT x m/s B

(¢ 1AM 10 m/s2 &)

Ty F A e i Y B

Response Type : Numeric
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :
100

Question Number : 25 Question Id : 8643515155 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A particlr_- perfnrms simple harmonic motion with a perind of 2 second. The time taken b}-’

the particle to cover a displacement equal to half of its amplitude from the mean position is
1

g

a

The value of “a’ to the nearest integer is __

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643515155 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

IS U LA A T FLAl & FTHH AEdwe 2 Hve 1 59 F0 5R A9 Areatefy 9 aed
ammmwzgr$fawm=mamw;5%|

T 2 WEHA e gt 2wy

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643515156 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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C=3puF 5 M1}
| | AAMAAAN —m8M—
|

q=30 uC

\

The circuit shown in the figure consists of a charged capacitor of capacity 3 puF and a charge
of 30 pC. At time t=0, when the key is closed, the value of current flowing through the
5 M} resistor is ‘x" pA.

The value of ‘¥ to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643515156 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

C=3 uF 5 MQ
| | AAAAAN
11

q=30 uC

\

o= o femmu o gftyy ¥, we syt gt 2 feaent o1fta 3 wF 3R &y 30 pC &1 1=0 9 o4
ol =g 2, d1 5 MO fedre & geifed om0 & 91 ‘2’ pA

Ty F A e iR 2mmd
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100
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Question Number : 27 Question Id : 8643515157 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
A person is swimming with a speed of 10 m/s at an angle of 120° with the flow and reaches

to a point directly opposite on the other side of the river. The speed of the flow is ‘2’ m/s.

The value of ‘1" to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643515157 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

T A 10 m/s it =16 U SR F W 120° F B0 S G 0L F 6T 6 gHL SR W 3 fauda
fag WA T 9 W A 2 m/s
TE B A e Y A EAm

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 8643515158 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Two separate wires A and B are stretched by 2 mm and 4 mm respectively, when they are
subjected to a force of 2 N. Assume that both the wires are made up of same material and

the radius of wire B is 4 times that of the radius of wire A. The length of the wires A and B

a
are in the ratioof a : b. Then E can be expressed as — where x is __
x

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

100

Question Number : 28 Question Id : 8643515158 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

21 99 aRi A 2R B T 2 N &1 o6 @M FHAI: 2 mm 3R 4 mm T i A g1 993 T3 g
Ml TR U & 9914 | 99 € a91 9% B T 51, aR A F1 T F 4T ¥ 1 AR A SR B T oarsdi
-:"1

b
Response Type : Numeric

H I a: b &, Al EﬁT;EEﬂHﬁﬂﬁ?ﬂ?xﬂﬂH%, -

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643515159 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A parallc-l platc- capacitor has pIatc- area 100 m? and pIatc- separation of 10 m. The space
between the plates is filled up to a thickness 5 m with a material of dieleclric constant of 10.

The resultant capacitance of the system is ‘x" pF.
The value of £3=8.85x10"12 F.m !
The value of "’ to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643515159 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

TF HHR 2 G 8, @2 F1 8% 100 m2 3T =12 F1 99F4 10 m T <121 % =49 & T F1
WA 10 % TSt | 5 m Hers 7@ o fomn wen €1 59 e # uftom i 6 =m0 pF g
g, B AM=8.85x10"12 Fm~1 ¥

TRy W AA feeaa quiws . @
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643515160 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A bullet of mass 0.1 kg is fired on a wooden block to pierce through it, but it stops after
moving a distance of 50 cm into it. If the velocity of bullet before hitting the wood is
10 m/ s and it slows down with uniform deceleration, then the magnitude of effective retarding

force on the bullet is ‘2" IN.
The walue of “x" to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643515160 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

0.1 ke =1 TR Tt =1, =t % 2he § Hed &9 & forg 2 = 81 ofA 78 292 ° 50 em
ToAH B G & | Al Tl & 37, Fehel % 929 F 94 10 m/s B 3 92 THTHE &Y 4 Hfed 2
SfTHt 21 S 2, A Tl W qHE g "ol 1 9E ) N2

Ty w A eem iR H B

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Chemistry Section A
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Section Id : 864351345
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351345
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 8643515161 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a binary compound, atoms of element A form a hcp structure and those of element M

occupy 2/3 of the tetrahedral voids of the hcp structure. The formula of the binary compound

15 :

Options :

86435115481, M2
M, A

86435115482, 4773

86435115483, MA3

86435115484, MaA

Question Number : 31 Question Id : 8643515161 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T fgeit AT H T A F TH] hep TTEA T € 991 G M F THI] hep WTEAT F 2/3
TJquReT T [fEal i sr=sited &t & | 5 difes =1 99 2

Options :

86435115481, M2

86435115482, Mafs

86435115483, MA3
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86435115484, MaA

Question Number : 32 Question Id : 8643515162 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A certain orbital has no angular nodes and two radial nodes. The orbital is :

Options :

[t
n

86435115485.
2p
86435115486.

86435115487.

3p
86435115488.

Question Number : 32 Question Id : 8643515162 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TF HAfdea f9a9 5 F0E 712 76 € 791 3 g T2 €, 98 Afdea ¢ :
Options :
86435115485, =

2p
86435115486.

86435115487.

3p
86435115488.

Question Number : 33 Question Id : 8643515163 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List - I with List - 11 :

List - I List - 11
(Process) (Catalyst)
(a) Deacon’s process (i) ZSM-5
(b) Contact process (i) CuCl,
(c) Cracking of hydrocarbons (iii) Particles ‘N
(d) Hpydrogenation of vegetable oils  (iv) V,05

Choose the most appropriate answer from the options given below :
Options :
26435115489, @)D, (B)-(ii), (0)-(ii), (d)-(iv)

26435115490, @H(I), (B)-(id), (c)}-(i), (d)-(iii)
26435115491 @)-(ii), (b)-(1), (c)-(iv), (d)-(ii)

26435115497, @), (b)-(iv), (c)-(1), (d)-(ii)

Question Number : 33 Question Id : 8643515163 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Tl - 1= H=l - 11 e Hif

= - 1 =l - 11
(THRH) (3T )
(a) EIFA WFH (i) ZSM-5
(b) el W (i) CuCl,
(c) BTGSeI 1 o (i) Ni®m
(d) =aT=afd qEl F TSI (iv) V,Os

= feu 4 fawedl | @ Aaiiuew 3fad 3™ #1999 S|
Options :
26435115489, (@), (b)-(iii), (c)~(ii), (d)-(iv)

86435115490, @H(I) (B)-(id), (c)}-(1), (d)-(iii)
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86435115491, @)-(D), (b)-(1), (c)-(iv), (d)-(ii)

86435115497, @ () (B)-(iv), (c)}-(0), (d)-(iid)

Question Number : 34 Question Id : 8643515164 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The ionic radius of Na* ion is 1.02 A. The ionic radii (in A) of Mg2* and AP+, respectively,
are :

Options :

86435115493, U85 and 0.99

86435115494 0.72 and 0.54

86435115495, U-68 and 0.72

86435115496, 102 and 0.99

Question Number : 34 Question Id : 8643515164 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Na* & st 5 1.02 A 1 Mg2* a1 AP+ =it smafaes Beard (A 9) 2 s
Options :

86435115493, 0.85 @1 0.99

86435115494, 0.72 @41 0.54

86435115495, 0-68 @41 0.72

86435115496, 1-05 41 0.99

Question Number : 35 Question Id : 8643515165 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The chemical that is added to reduce the melting point of the reaction mixture during the

extraction of aluminium is :
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Options :

86435115497, Bauxite

86435115498, [eaolite

86435115499, —alamine

86435115500, TYOlite

Question Number : 35 Question Id : 8643515165 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Teqfafm & frepdn § sfafma fagn 1 Temis 920 & foag < @A frem am g, =2 2
Options :

86435115497. L

86435115498, TATCIIES

86435115499. R

ty

86435115500.

Question Number : 36 Question Id : 8643515166 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two Statements : One is labelled as Assertion A and the other is labelled as

Reason R :

Assertion A :  During the boiling of water having temporary hardness, Mg(HCO,), is
converted to MgCO,.

Reason R : The solubility product of Mg(OH), is greater than that of MgCO,.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

86435115501, Both A and R are true and R is the correct explanation of A
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86435115502, both A and R are true but R is NOT the correct explanation of A
86435115503, A is true but R is false

26435115504, A 1s false but R is true

Question Number : 36 Question Id : 8643515166 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

31 %Y fau ¥ U, HIT A T THIFTOR 2 :

HYT A I FRRA F A B IO W Mg(HCO,),, MgCO, H dfafda 21 5 2|
FEOTR:  Mg(OH), #1 faeraal s MgCO, &t 31ieq s1fes 2

S FUA F Hed # e faswedi § F waifies 3= sw g

Options :

86435115501, A TR 1 T ¥ 3R R, A #1 W& =0 7

06435115502, A T R S W1 § 9 R, A 1 Hel =meA 7 @

86435115503, A T € WR 30 @

06435115500, A T WR T €

Question Number : 37 Question Id : 8643515167 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - 1 with List - 11 :

List- 1 List - 11
(a) Ca(OCl), (i)  Antacid
% )
(b) CasO, - EHED (i) Cement
(c) CaO (iii) Bleach
(d) CaCO, (iv) Plaster of Paris

Choose the most appropriate answer from the options given below :
Options :
38/91
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26435115505, (@)1, (0)-(iv), (c)-(ii1), (d)-(ii)

26435115506, (@111, (b)=(i1), (c)-(1), (d)-(iv)
86435115507, (@)(iii), (b)-(ii), (€)-(iv), (d)-(i)

86435115508, (@)-(iii), (b)-(iv), (c)-(ii), (d)-(1)

Question Number : 37 Question Id : 8643515167 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
=il - 1 92 H=ll - 11 1 fAem #ife

el - 1 T - 11
(a) Ca(OCl), (i) Wi
(b) CaSO, - %HED (i) HH
(c) Cao (i) Toi=H
(d) CaCO, (iv) =T AE 9"

=¥ fe 3 ferpet 9 & e e v 9
Options :
26435115505, (@)-(1), (0)-(1v), (c)-(ii1), (d)-(ii)
26435115506, (@)L, (b)=(ii), (€)-(1), (d)-(iv)
86435115507, (@)(iil), (b)-(ii), (c)-(iv), (d)-(i)

86435115508, (@)-(i1), (b)-(iv), (c)-(ii), (d)-(1)

Question Number : 38 Question Id : 8643515168 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The number of ionisable hydrogens present in the product obtained from a reaction of
phosphorus trichloride and phosphonic acid is :

Options :
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86435115509, |

86435115510, 2

86435115511. 0

86435115512,

Question Number : 38 Question Id : 8643515168 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FIERRY IEFIREE a9 WERIHE AT Fi A9 O 9 e § SULed 13- arg e
= HE B

Options :

86435115509, 1

86435115510, 2

86435115511. 0

86435115512,

Question Number : 39 Question Id : 8643515169 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - 1 with List - 11 :

List - 1 List - 11
(a) Chlorophyll (i Ruthenium
(b) Vitamin - B, (ii) Platinum
(c) Anticancer drug (iii) Cobalt
(d) Grubbs catalyst (iv) Magnesium

Choose the most appropriate answer from the options given below :
Options :
86435115513. {a]-{ﬁi], {b]-(ii], (C]‘{h’]r {d]-{i]
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26435115514, @) (), (b)-(iii), (c)-(ii), (d)-(i)

26435115515, @), (b)-(ii), (c)-(iii), (d)-(i)

86435115516. (@)-(iv), (b)-(iit), (c)-(1), (d)-(ii)

Question Number : 39 Question Id : 8643515169 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Tl - 1 F G - 11§ e Fife

= - 1 T - 11
(a) FARITEA (i) =
(b) Tz B, (i) TEAfzm
(c) Wfa-SFa wAmfy (i) HETER
(d) T=9 SERE (iv) HITEm

= fau fasredi | § waifa 3fad 39 1 g4 Fifo :
Options :
26435115513, (@) (ii), (b)-(ii), (c)-(iv), (d)-(i)

26435115514, (@), (b)-(iii), (c)-(i1), (d)-(i)
26435115515, @), (b)-(ii), (c)-(iii), (d)-(i)

86435115516. (@)-(iv), (b)-(iit), (c)-(1), (d)-(ii)

Question Number : 40 Question Id : 8643515170 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The correct structures of trans-[NiBr,(PPh,), ] and meridonial-[Co(NH,),(NO,),], respectively,

are :

Options :
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86435115517.

86435115518.

86435115519.

86435115520.

Question Number : 40 Question Id : 8643515170 Question Type : MCQ Option Shuffling : Yes Is

Ph3P\ /Br
/ \Br

PhsP

Phq,P \ / Br
/ \ PP h3

PhsP B
B, 7

o N | \\MI3

NH;,

H;N TDZ NO,

/ \\pph e 3N/ | \N(‘}Z

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

trans-[NiBr,(PPh,),] @1 meridonial-[Co(NH,),(NO,),] 1 H&l T=rH ¥, %99

Options :

86435115517.

Phgp\ /Bl"
Phs F'/ \Br

O,N

NH;,

| /

02\1/ | \NHFJ,
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Ph,P B H3N I
N N

Co
/ \I‘I}hn DEN/ r!JH\\NH3
86435115518. 3
NO, ..
PhsP Br N | NO,
S Nd
/ S W | Ble
PPh NH; 2
86435115519. :
thp\\ /BT' w\T][}NHq
Ph, P/ \Br OzN/ | \1\02
86435115520.

Question Number : 41 Question Id : 8643515171 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The statements that are TRUE :

(A) methane leads to both global warming and photochemical smog
(B) methane is generated from paddy fields

(C) methane is a stronger global warming gas than CO,

(D) methane is a part of reducing smog,.

Choose the most appropriate answer from the options given below :

Options :
86435115521, (A) and (B) only

86435115522, (&) (B), (C) only

86435115523, (B), (C), (D) only

86435115524, (A) (B), (D) only

Question Number : 41 Question Id : 8643515171 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

FYA S HA ¢

(A) | yHeel a9 gig a1 o9 wed SE odt

(B) o % & HIF Se9 H%d B |

(C) CO, T ¥4 HiF UF YA YHeclg a9 If5 HT aref 719 7|
(D) HEA SATEES Y Frel F e g

T feu fasedi & & waita 3fem s =1 9fu

Options :

86435115521, 101 (A) T (B)

86435115522, o1 (A) (B), (Q)

86435115523, T (B), (C), (D)

=

86435115524, 70 (A) (B), (D)

Question Number : 42 Question Id : 8643515172 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Compound with molecular formula C;H/O can show :
Options :

86435115525, Positional isomerism
86435115526, Functional group isomerism

86435115527, Melamerism

86435115528. Both pnsitional isomerism and metamerism

Question Number : 42 Question Id : 8643515172 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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S C,H,O 1 AT 9 Tl € :
Options :
86435115525, T HAEAE

86435115526, Apnarcaen Tq HHIETE
86435115527, A=ATHTHI

86435115528, W AN THISHSUN AT HEATHT

Question Number : 43 Question Id : 8643515173 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - 1 with List - 11 :

List - 1 List - 11
(Chemicals) (Use/Preparation/ Constituent)
(a)  Alcoholic potassium hydroxide (i) electrodes in batteries
(b Pd/BaSO, (if) obtained by addition reaction
(c) BHC (Benzene hexachloride) (iii) used for (-elimination reaction
(d) Polyacetylene (iv) Lindlar’s Catalyst

Choose the most appropriate match :
Options :
86435115529 {ﬂ}'(li], {b]-{ljf {C]-{IV], {d]-{lll]

26435115530, (@) (i), (b)-(1), (c)-(iv), (d)-(ii)
86435115531, @)-(i), (B)~(iv), (c)-(i), (d)-(iii)

26435115532, (@)-(1ii), (b)-(iv), (c)-(i1), (d)-(i)

Question Number : 43 Question Id : 8643515173 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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T - 1 G - 11 e Fife

Tt - 1 =l - 11

(| ) ( JUITT /U /=92 )
(a) UehTEle™ Wefemm TeeEe (i) = Y ceEE W w5 B
(b) Pd/BaSO, (i) HFer Afafwran 9
(c) BHC (i1 eFaEeiiiEe) (iii) STEN W E BT sifafEen
(d) wifeTH (iv) Toreom e
Haifee 3fed faam gfw

Options :
86435115520, @ (1), (B)(1), (O)(iv), (d)-(1i)

26435115530, (@)(ii), (b)-(i), (c)-(iv), (d)-(ii)
86435115531, @)-(11), (b)~(iv), (c)-(1), (d)-(iii)

26435115532, (@)-(iii), (b)-(iv), (c)-(i1), (d)-(i)

Question Number : 44 Question Id : 8643515174 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Reaction of Grignard reagent, CP._HEI"ngBr with C 3I-IECI followed by hydrolysis gives compound
“ A" which reacts instantly with Lucas reagent to give compound B, C;3H;;CL

The Compound B is :
Options :
Cl

CH,

86435115533.
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Hy

3

86435115534.

cl CH,

CH,

pe

86435115535.

CH;

CH;

s

86435115536.

Question Number : 44 Question Id : 8643515174 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

= sfuse® C,H MgBr # CH,O & sfufiean, si@ stwweq % weamq Aife “A” 3t & &
sAfeeits =g e J afafwan F3F 9fTF B, C H,,Cl 3@ 2|

AFTFEB T :

Options :

CH,

b

86435115533.
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CHs

86435115534.
cl CH,
CH,
86435115535.
CH,
Cl
CH;
86435115536

Question Number : 45 Question Id : 8643515175 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

C=N
COOH
H,O H,0O
e ] ai ‘l'.\ " ]
H H*:4
(Major Product)

Consider the above chemical reaction and identify product “A” :
Options :
CH,NH,

86435115537.

CONH,

86435115538.
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C=N-0OH

86435115539.

CH,NO,

86435115540.

Question Number : 45 Question Id : 8643515175 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

H,0O H,0O s
2 ﬂ'AH' I 1_2
(&g 37915

II+

I A9l W 99 +1 399 “A” =+ =9

Options :

CH,NH,
86435115537.

CONH,
86435115538.

|H

C=N-0H

86435115539.
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CH,NO,
86435115540,

Question Number : 46 Question Id : 8643515176 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Hj

Alkaline KMnD4
H 5 -

J.I'x.‘f

OCH;
Considering the above chemical reaction, identify the product “X" :

Options :

CH,OH
x o
86435115541, 0L,
COOH
X _
OCH,
86435115542.
CHO
_}{ w
OCHj;

86435115543.

50/91



3/18/2021

CH;

OH
86435115544.

Question Number : 46 Question Id : 8643515176 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
“Hj

T KMnO,
}_ .HK.I’.F
Ht
OCHj
I AT W fo=ER 31 30RE X7 =1 929
Options :
CH,OH
x =
86435115541. OCH,
COOH
X =
OCH;

86435115542.
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CHO

X -
OCH;4
86435115543, :
CH,
X -
OH
86435115544,

Question Number : 47 Question Id : 8643515177 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
HLC CH
3 \\N P 3

H,

NaNO,, HCl
[ .’_fxr.r }__ .I'IYH'

273K -278K (Major Product) (Major Product)

Considering the above reaction, X and Y respectively are :

Options :
,Cl™ Ns N
. _~CH
and N-~ 3
86435115545. CHj
Cl Nis <
and N
" \CH

86435115546. CHjy
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N, Cl™ };:1 I
and %
CH,
86435115547.
Cl chH
and U \
CH,

86435115548.

Question Number : 47 Question Id : 8643515177 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

H,C CHs

NN
NH,

NaNO,, HCI

¥
&

: .I'J'X.l"

IYE SAfafEa T foan & 9aEu X am Y €, F99:

Options :
{ —
2 Cl Na N
CH
GE|| O/ N 3

CH
86435115545. 3

N
bt Nc1 5
CHjy

-

86435115546.
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N; Cl~ J}::_H;i
Nan N
qe %
86435115547.
Cl CH,

86435115548.

Question Number : 48 Question Id : 8643515178 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - 1 with List - 11 :

List - 1 List - Il
(Class of Drug) (Example)
(a) Antacid (i) Novestrol
(b) Artificial Sweetener (ii) Cimetidine
(c) Antifertility (i) Valium
(d) Tranquilizers (iv) Alitame

Choose the most appropriate match :
Options :
86435115549, @ (), (b)-(v), (c)-(ii), (d)-(i)

86435115550, @) (1) (b)-(iv), ()-(i), (d)-(iii)
86435115551, @), (b)-(i), (c)-(i), (d)-(ii)

86435115552, (@)-(), (b)-(iii), (c)-(i), (d)-(ii)

Question Number : 48 Question Id : 8643515178 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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T - | a1 G - 11 =1 e #ifs

= - 1 = - 11
( 2Trafer =T &) ( 33TEUT)
(a) Wia-sv () e
(b) FH AFF (i) foafe=ta
(c) - erma (i) Aferam
(d) wmaH (iv) Tfees
Haifues 3= faam 9f

Options :
86435115549, @), (b)-(iv), (c)-(iii), (d)-(i)

86435115550, @) (1): (b)-(iv), ()-(1), (d)-(iii)
26435115551 @) (W), (b)-(1), (c)-(1), (d)-(iii)

86435115552, (@)-(), (b)-(iii), (c)-(i), (d)-(ii)

Question Number : 49 Question Id : 8643515179 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A non-reducing sugar “A” hydrolyses to give two reducing mono saccharides. Sugar A is:

Options :

86435115553, Glucose
86435115554, Fructose
86435115555, Galactose

86435115556, Sucrose

Question Number : 49 Question Id : 8643515179 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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T 313999 S VU A, 9Icl S92 & 9491 <1 S99 9 GFse ol &1 WU A ¥
Options :

86435115553. ke

86435115554. i

86435115555.

86435115556, =

Question Number : 50 Question Id : 8643515180 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Reagent, 1-naphthylamine and sulphanilic acid in acetic acid is used for the detection of :
Options :
86435115557 N2

86435115558, VO3

86435115559, NO

gl

86435115560. -

Question Number : 50 Question Id : 8643515180 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AR, UHifew 3 |, 1-ATFeUHA a9 Sokiiersh 3% &1 I9Ar, Tagsi Iufefa ga1 =
Ffeufrmem e 322,

Options :

86435115557, NO2

86435115558. s

86435115559, NO
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2

86435115560.

Chemistry Section B
Section Id : 864351346
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351346
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 8643515181 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Complete combustion of 3 g of ethane gives xx 102 molecules of water. The value of x is

(Round off to the Nearest Integer).

[Use : N, =6.023 x 10%3; Atomic masses inu: C:12.0;0:16.0; H: 1.0]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 51 Question Id : 8643515181 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

g F I S A TA F ax 102 AWM x WIS | (Fieheaw qois H)
[T FIFT : N, =6.023 x 102; anfoas "afdaiu 7 : C:120;0:16.0; H: 1.0]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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100

Question Number : 52 Question Id : 8643515182 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AX is a covalent diatomic molecule where A and X are second row elements of periodic
table. Based on Molecular orbital theory, the bond order of AX is 2.5. The total number of
electrons in AXis . (Round off to the Nearest Integer).

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643515182 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AX TF HeHdrst G ) & W@l A 991 X oad 9rei w1 i i % 9= €1 enfias
Mfeed oG & MR W AX F A=Y FI2 2581 AX Y gqu o figeme |
(feFeam quis +)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643515183 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For the reaction
CZH{.J — C2H4 | H2

the reaction enthalpy A H=__ k] mol 1. (Round off to the Nearest Integer).

[Given : Bond enthalpies in k] mol 1.C=C:347. C=C:611;
C—-H:414 H-H: 436]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
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Text Areas : PlainText
Possible Answers :

100

Question Number : 53 Question Id : 8643515183 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

aAfafF C,H, — C,H, +H,
¥F fau sifuferan TEed A H=_
[femn & : sty T3 K mol ~ 1 #:C-C: 347, C=C:611;

C—H :414, H-H : 436]

_KkJmol ! &I (Treeam g o)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 8643515184 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
2 molal solution of a weak acid HA has a freezing point of 3.885°C. The degree of dissociation
of this acid is B [ (Round off to the Nearest Integer).

[Given : Molal depression constant of water =1.85 K kg mol !

Freezing point of pure water =0°C]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 54 Question Id : 8643515184 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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gdd o= HA & 2 "ied faogq =1 fewi® 3.885°C 1 39 37w +1 fagiw= =G0
x 103 &1 (Frpeaa quis #)

[fean & : /a1 %1 Ao/l s1aHA feri®=1.85 K kg mol !

G 9d 1 f&7i# 0°C]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643515185 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In order to prepare a buffer solution of pH 5.74, sodium acetate is added to acetic acid. If the

concentration of acetic acid in the buffer is 1.0 M, the concentration of sodium acetate in the

buffer is M. (Round off to the Nearest Integer).
[Given : pKa (acetic acid)=4.74]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643515185 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

pH 5.74 %1 9w faeaq 991 & fau difesm e 1 tifed o § faoma 1 9w H afs

Udifes 37 =1 9r=dl 1.0 M 8, @1 "ifegq tHez =t 9r=a ari M I
(Feeam quis #)

[femn 2 : pKa (THifes o7a) = 4.74]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

100

Question Number : 56 Question Id : 8643515186 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For the reaction
2Fe®* (aq) + 21~ (aq) — 2Fe?* (aq) + Ly(s)
the magnitude of the standard molar free energy change,

[+

Aam ==

k] (Round off to the Nearest Integer).
E° et /Feg) = ~ 0440V Epar p o= — 0.086V
By fy- = 0389V F = 96500 C

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643515186 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

ST
2Fe?* (aq) + 21~ (aq) — 2Fe?™ (aq) +1,(s)

AGy =—_ k] (frem quis §)
E° L2t /pe) = ~ 0440 Vi Epar o= — 0.036 V
B, fp- = 0339V F = 96500 C

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 57 Question Id : 8643515187 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2 NO(g) +Cl,(g) = 2 NOCI(s)

This reaction was studied at —10°C and the following data was obtained

run [NOJ, [CL ], Iy
1 0.10 0.10 0.18
2 0.10 0.20 .35
3 0.20 0.20 1.40

[NO], and [Cl,], are the initial concentrations and r, is the initial reaction rate.

The overall order of the reaction is . (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643515187 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2 NO(g) +CLy(g) = 2 NOCI(s)
=0 AR - 10°C W 19997 #2779 A< 9rd g

=,

Teqoy [NOJ, [CL,], rg
0.10 0.10 0.18
. 0.10 0.20 0.35
3 0.20 0.20 1.40
[NOJ, 71 [Cl,], SR arsard ¥ a1 r, smfus afafman @ 2 sfafen =t o #ifz
| (feam 9w H)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 58 Question Id : 8643515188 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The total number of unpaired electrons present in the complex K;[Cr(oxalate),] is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643515188 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

TFd K;[Cr(oxalate),] H Iuftd SfHd soiagl #1 T S e vocusual
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643515189 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

__ grams of 3-Hydroxy propanal (MW =74) must be dehydrated to produce 7.8 g
of acrolein (MW =56) (C,H,O) if the percentage yield is 64. (Round off to the Nearest
Integer).

[Given : Atomic masses : C:12.0u, H : 1.0 u, O : 16.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643515189 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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7.8 g Wghlei™™ (C,H,0) (MW = 56) =1 391 FTH & forg g 3-BIESIREaTIAe (MW =74)
=1 FAstelis SEvas 2, afe wfave @ & 641 (Frszan qofs #)
[femn % : snfvas wefqal : C:120u, H: 1.0y, O: 16.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643515190 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
A reaction of 0.1 mole of Benzylamine with bromomethane gave 23 g of Benzyl trimethyl

ammonium bromide. The number of moles of bromomethane consumed in this reaction are

nx 10" 1, when n= . (Round off to the Nearest Integer).

[Given : Atomic masses : C: 12.0u, H:1.0 u, N : 14.0 u, Br : 50.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643515190 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
0.1 Hel AfSTers e | SHEE AfafFmm 1 23 g A ZEafaa Eas dHEe Sq ¢ 1 amEeE
F I A w HE W T AR H FW o WH ¥, nx107 1% nw A B !
(Trereas quris H)

[femn & : snftas wefd@l : C:120u, H: 1.0 u, N : 14.0 u, Br: 80.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Mathematics Section A

Section Id : 864351347
Section Number : 5

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351347
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 8643515191 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the functions are defined as f(x)=

domain of the fnllnwing

(f = 8)(x) =f(x) = g(x). (f/8)x) =

Options :

86435115571, 0 = x <1
86435115572, 0 <x <1
86435115573, 0 =1 =1

86435115574, 0<x =1

functions

vx and g(x) = /1 — x, then what is the common

t+g. f—8 ffz. gff g2—f where

Question Number : 61 Question Id : 8643515191 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

afg weaE f(x) = Jx T g(x) =

-VT—x ®, @ wa Al f+g f-3 f/g 8/f g—f &

(f = g)x)=f(x) =gx), (f/g)x) = % % 1 HHA (common) HTH%'

Options :
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86435115571, 0 = x <1

86435115572, 0 <x <1

86435115573, 0 =¥ =1

86435115574, 0<x =1

Question Number : 62 Question Id : 8643515192 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If the equation .a zP+az+az+d=0 represents a circle where a, d are real constants,
then which of the following condition is correct ?

Options :

|2 : = . P
6435115575, |@-~ad = 0and ae R

alf—ad>0Dandace R {[’]}
86435115576.

2 . -
86435115577, | ad =0

s =10, ; '
86435115578, ©=0-a de R

Question Number : 62 Question Id : 8643515192 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

g FHF a|z + &z + az + d =0 TF I HI (&9 F 2, @ a, d IRdtas 371 g, a1 f
HYFA W AAE?

Options :

|2 : = R
26435115575, |¢-ad = 0@ MaeR

al2—ad > 0dMae R {0}
86435115576.

4 s -
86435115577, | ad =0

s =10, ; '
86435115578, ©=0-a de R
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Question Number : 63 Question Id : 8643515193 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
| 1 0 | -

let A+2B=| 6 3| and 2A-B=|2
5 1 0 1

S

If Tr(A) denotes the sum of all

3
S I = )

diagonal elements of the matrix A, then Tr(A) — Tr(B) has value equal to :
Options :
86435115579. 1

I3

86435115580.
86435115581,

86435115582, 0

Question Number : 63 Question Id : 8643515193 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 20 S
M A+2B=| 6 —3 3| 2A-B=|2 -1 6| €1 ARG Tr(A), *TFE A, F fawul &
5 3 1 0 1 2

[t FTEFEl F FRTRS H1 S €, @ Tr(A) — Tr(B) = A TR € :
Options :
86435115579, 1

]

86435115580.
86435115581,

86435115582, 0

Question Number : 64 Question Id : 8643515194 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1
Let «, (3, v be the real roots of the equation, 2 +axZ+bx+c=0, (a,b,ce Rand a, bz 0). If
the system of equations (in u, v, w) given by au+pv+yw=0; pu+yv+aw=0;
g

o . - T
vt + av + Pw =0 has non-trivial solution, then the value of o is :

Options :
86435115583, 0

86435115584, 1

86435115585. 3

86435115586, 9

Question Number : 64 Question Id : 8643515194 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AT o, B, y THEF 23 +ax2+ by +c=0, (a,b,ce RTMa, bz 0) F Irdds A €1 AE u, v, w

[

T Wil 64 an + Po +yw =0, Pu +yo + aw=0, yu + o« + Pw=0 F1 3G & &, A % ED|
T

Options :

86435115583, U

86435115584, 1

86435115585,

86435115586, 2

Question Number : 65 Question Id : 8643515195 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The sum of all the 4-digit distinct numbers that can be formed with the digits 1, 2, 2 and 3
1S :

Options :
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86435115587, 22264

86435115588, 20664

86435115589.

86435115590, 122664

Question Number : 65 Question Id : 8643515195 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Sl 1,2,2 TN 3 FAE o WA aArelt A 4 il Fi 9 Hemad w1 aE T
Options :

86435115587, 22264

86435115588, 20664

86435115589.

86435115590, 122664

Question Number : 66 Question Id : 8643515196 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let (1+x+2x2)0=a,+ax+ax?+...+a,x40. Then, a;+a; +ac +..... ha,- is equal to :
Options :
19220 | »
86435115591, 2 (2 +21)
X} n20 4 »
86435115592, 2 (27 121)
21‘3{22{] 21]
86435115593.
23]{22{] 21]
86435115594.

Question Number : 66 Question Id : 8643515196 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

M (1 +x+222) P =ay+agx +ax?+ ...+ a0 ¥l W ag+ag+ag+ ... +ay, T E ;

Options :
21‘3{22{] | 21:]

86435115591.

731{72{] | 'jl]
86435115592. = = o

zlﬂ{zzﬂ 21]
86435115593.

23]{22{] 21]
86435115594.

Question Number : 67 Question Id : 8643515197 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The value of 3 4 1 is equal to :
4 4
1
34 ]
4 4
3+ ... x

Options :
86435115595, 12 T V3
86435115596, 2 T V3

3+ 243

86435115597. °

86435115508, 4+ 3

Question Number : 67 Question Id : 8643515197 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3 4 1 HHE FEE ¢

Options :
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86435115595, 12+ V3

2
86435115596.
86435115597. -

86435115508, 4+ V3

Question Number : 68 Question Id : 8643515198 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

F e I —,,1 is equal to :

Options :
25
86435115599, 101

101
86435115600, U8
99

86435115601, WU

101

86435115602, 104

Question Number : 68 Question Id : 8643515198 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
g 1 1 1

5 - — - . b ———— TR :
3 -1 =1 ¥ e |

Options :
25
86435115599, 101
101

86435115600, *U8
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99

86435115601, 100

101
86435115602, 104

Question Number : 69 Question Id : 8643515199 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If «, P are natural numbers such that 100% - 1998 =(100)(100) + (99)(101) + (98)(102) 4
..... t(1)(199), then the slope of the line passing through (o, ) and origin is :
Options :

86435115603, 210

86435115604, 230
86435115605, 240

86435115606, 220

Question Number : 69 Question Id : 8643515199 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

g o, B ¥ YiE €, a9 faw 1002 1998 = (100)(100) + (99)(101) + (98)(102) + ... F(1)(199)
T, T (o, B) T JeAfeg § BT W AT W@ i FG0I ¢ :

Options :

86435115603. 210

86435115604, 230
86435115605, 540

86435115606, 230

Question Number : 70 Question Id : 8643515200 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1
1
I 2 ) =2
If f(x)=4I% is differentiable at every point of the domain, then the values of
[axz +b: |x|<1

aand b are respec'rivel}-' :

Options :

3 1
86435115607. 2" 2

I
k3 | 3

86435115608, 2

M|
[ ]

86435115609.

b | =
[ ]

86435115610.

Question Number : 70 Question Id : 8643515200 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
| 1
) rlxl =1
afe f(x) =4I

ta.xz tb; x| <1

Y 9id F U g W SaFed €, o a 991 b F HH FEE: ©

Options :
3 1
86435115607, > 2
-
86435115608, 2 2

b3 | w3

86435115609.
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e
k3|

86435115610.

Question Number : 71 Question Id : 8643515201 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

cosec” x

The real valued function f(x) = ﬁ where [x] denotes the greatest integer less than or
x—[x

equal to x, is defined for all x belonging to :

Options :

all reals except integers

86435115611.

86435115612 all reals except the interval [ -1, 1]
6435115613. all non-integers except the interval [ -1, 1]
26435115614 all integers except 0, —1, 1

Question Number : 71 Question Id : 8643515201 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

cosec” x

Jr — [«
Options :
quitsri % sifafiaa @t arafas den
86435115611. e
86435115612, 10 [~ 1, 1] = HAfdE 991 GRdias 9E=AU
86435115613, 00 [~ 1, 1] F SAfaie |41 STImH
86435115614, O —1, 1 SR Tl oIk

Question Number : 72 Question Id : 8643515202 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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T o T =
lim $in ~ x —tan “x

I x— C

is equal to L, then the value of (6L +1) is :
X

Options :
86435115615, ©

86435115616, ©

I3

86435115617.

b | =

86435115618.

Question Number : 72 Question Id : 8643515202 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. —1 -1
e lim Sin  x—tan x

. . — L& AGL+1]) FAAE

3x

Options :

G‘~|r—'-'

86435115615.

86435115616, ©

(=]

86435115617.

M| =

86435115618.

Question Number : 73 Question Id : 8643515203 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
1)cos4/(2x — 1)

P -y

2

2x 5
The int::-gral _[( dx is c-qual to :

(where ¢ is a constant of integration)
Options :
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1
;sinu/(h' I 'l]‘?‘ ol
86435115619. <

1
;Sf_tw'[(Zx '1]2 5+
86435115620. <

1 f
—cos4/(2x 'l]2 -5 +¢
86435115621, 2

2

1
—cns«\}(ﬁx F1)" +5 +¢

86435115622, 2

Question Number : 73 Question Id : 8643515203 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1)cosy(2x — 1)% + 5 —

2x
Jax® —4x + 6

(W&l ¢ U THFT 79 8)
Options :

1
;sinu/(b: I 'l]?‘ o
86435115619. <

a
;Sf_tw'r(zx 'l]?‘ S+
86435115620. =

1 f
—cos4/(2x 'l]2 5 +¢
86435115621, 2

2

1
;cos«\}r(zx F1Y" +5 +¢
86435115622, =

Question Number : 74 Question Id : 8643515204 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The differential equation satisfied by the system of parabolas y>=4a(x + a) is :

Options :
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86435115623, *

86435115624.
|

86435115625.

|
86435115626.

Question Number : 74 Question Id : 8643515204 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
M § § I W SaEd TR WEEEl o e 2 =4da(x +a) FR WO o1 &7
Options :

86435115623, . dx

86435115624
i

86435115625.

|
86435115626.

Question Number : 75 Question Id : 8643515205 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Choose the correct statement about two circles whose equations are given below :
x2 yz 10x lﬂy F41=0
x2 yz 22x lﬂy +137=0

77/91



3/18/2021
Options :

86435115627, Circles have two meeting points

86435115628, Circles have no meeting point

26435115629 circles have only one meeting point

86435115630. circles have same cenlre

Question Number : 75 Question Id : 8643515205 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
x2+y?—10x— 10y +41=0
x2+y2=22x—-10y+137=0
2, % foau 9@ F2@ g

Options :

86435115627, 30 A 15 T frend

86435115628, 0 (Al 1 fag T =1 ferd
86435115620, T0 Ferel W feig W frert &

e RIEREIE
86435115630, ¥ 198 <l % T

Question Number : 76 Question Id : 8643515206 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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For the four circles M, N, O and P, following four equations are given :

Circle M : x> +1*=1

Circle N : x*+y?—2x=0

Circle O : 22+ y2—2x—-2y+1=0

Circle P : 2% +y?—2y=0

If the centre of circle M is joined with centre of the circle N, further centre of circle N is joined

with centre of the circle O, centre of circle O is joined with the centre of circle PP and lastly,

centre of circle P is joined with centre of circle M, then these lines form the sides of a :

Options :

86435115631, Rectangle

86435115632, Rhombus

86435115633, duare

86435115634, | arallelogram

Question Number : 76 Question Id : 8643515206 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

IR g9 M, N, O 991 P % FHi= 8

ga M : x2+y?=1

A N : 22+ y?—2x=0

F9 0 : ¥+ —-2x-2y+1=0

ﬂ?‘lf’:x:"—'ljj.-:i 2y=0

ARFTIM B FEIAN F % o AN M2, TN FFE g9 0 & &= 4 faamn s g, 90
1 F% I P s § THE 9 g 991 99 P # s g9 M F e 9 HemE = €, @ 9w =
¥ & o =1 oo 7

Options :

86435115631, 10

86435115632. ji
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86435115633, 1

86435115634, T mac =AqH

Question Number : 77 Question Id : 8643515207 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The number of integral values of m so that the abscissa of point of intersection of lines

3x+4y=9 and y=mx +1 is also an integer, is :

Options :
86435115635, U
86435115636, ©
>
86435115637, 2

86435115638, 2

Question Number : 77 Question Id : 8643515207 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

m % YU A, e fere Tmnedi dx + 4y =9 a0 y=mx + 1 &F Afo=sed fag 1 4=+t ©F i
T, HHEN T :

Options :

86435115635, 0

86435115636, ©

%
86435115637, 2
86435115638, 2

Question Number : 78 Question Id : 8643515208 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The equation of one of the straight lines which passes through the point (1, 3) and makes an
angle tan" ' (y/2) with the straight line, y + 1= 32 x is:

Options :

26435115630, A2 x +5y — (15+ 442) =0

2 x ( N =
86435115640. 42x -5y - (5+442) =0

86435115641, 5v2x +4y — (15 +442) =0

86435115642, $V2 X 45y — 442 =0

Question Number : 78 Question Id : 8643515208 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fig (1, 3) & B ST el e e y + 1= 3vE % A tan™ (V2) 7 o o e e
T U T FHE B

Options :

86435115630, A2 x +5y — (15+ 492) =0

2 x ( 2) =
sea3siiseto, V2 X ~5y — (5+42) =0

86435115641, 5V2x +4y — (15 +442) =0

86435115642, T2 X +57 — 442 =0

Question Number : 79 Question Id : 8643515209 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The solutions of the equation

s i i1
1+ sin"x 5N x sin~x

cos?x 1+ cos’x cos? x| = 0,(0<x <), are :

4 5in2y 4gin2y 1 + 4sin?y
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Options :

86435115643, ©

86435115644, 12 1

7w 1l

12" 12
86435115645.

m m

- l‘} r g
86435115646, 1= ©

Question Number : 79 Question Id : 8643515209 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

; . 2 . 2 . 2
1 + sin“x sin“x sin“x
L 2 ; 2 9 "
HHTEHIM cos“xy 1+ cos“x cos“x| =0,(0<x<7) &FHEA % .
4 sin2x 4sin2x 1+ 4 sin2x

Options :

T O
86435115643, 6 6
on 7%
86435115644, 12 12
F’_’.r 11+
17’ ETa
86435115645, 12 12
i1 o
..a?"_
86435115646, 1= ©

Question Number : 80 Question Id : 8643515210 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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—
A vector a has components 3p and 1 with respect to a rr:-ctangular cartesian system. This

system is rotated through a certain angle about the origin in the counter clockwise sense. If,
- ._} : -
with respect to new system, a has components p+1 and /10, then a value of p is

equal to:
Options :
86435115647, 1

86435115648, 1

4
86435115649, 3

5
86435115650, 2+

Question Number : 80 Question Id : 8643515210 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T SAFAIER HIAT TUIET F G0 U 969 a F T2h dp a9 1 €| 59 WUIE i gelfag & 9

AT Taen H Tl Fo0 o T A R | AT TE GO F WOE o 6 FF p o+ 1A 0 F A
p 1 TF AE A T

Options :
86435115647, 1

86435115648, 1

4
86435115649, 5

l
86435115650,  +

Mathematics Section B
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Section Id : 864351348
Section Number : 6

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351348
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 8643515211 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let z, z, be the roots of the equation z* + az+12=0 and z,, z, form an equilateral triangle
with origin. Then, the value of |a| is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 81 Question Id : 8643515211 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A THEW 22+ az +12=0 % A z, T z, T A1 FA(Ag F WY z,, z, TH TAAG A4 T
Tl @|aFHEEE

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643515212 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Let f(x) and g(x) be two functions satisfying f (x%) 4 g(4—x) =4x” and g2(4—x)+g(x)=0, then

4

the value of I._f{xz]dx s
—4

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643515212 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

M f(x) T4 g(x) B T &, I f(x2) + g4 —x) =423 T g(4—x) + g(x) =0 T HT= FW &1 &@

4
[fahdx AR E
—4

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643515213 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
- 8 ~_B .
oy *7x s
If f(x)= _[ f — dx, (x = 0), f(0)=0and f(1)= i then the value of K is
(2 +1+2x7) S

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 83 Question Id : 8643515213 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

_H H_{"} %
XX dx, @ 0),f0) =0T f1)= L EAKFARE |

e f(x) = [—
lxc +1+2x") K

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643515214 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A square ABCD has all its vertices on the curve :rzl.r2 =1. The midpnints of its sides also lie on

the same curve. Then, the square of area of ABCD is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643515214 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

TF T ABCD ¥F T+ ¥id 9% 2%y2=1 W &1 SHH1 qonsii & meafag «f st 9 W E @
ABCD FéFFa M aie |

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 85 Question Id : 8643515215 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Let the plane ax + by +cz+d =0 bisect the line joining the points (4, —3, 1) and (2, 3, — 5) at

r "%f
the right angles. If a, b, ¢, d are integers, then the minimum value of {a3 b2+ 2+ dzj is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643515215 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A fAg Al (4, 3, 1) 99 (2,3, —5) I W Al W@l H FHGA ax + by +oz+ d =0 FHRO T
wfguifod #3811 4 a, b, o, d qUi® € a1 (@24 b2+ 24+ d2) FF@EHIAE |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643515216 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The equation of the planc-s parallel to the pla_nc- X Zy b 2z — 3 =0 which are at unit distance

from the point (1, 2, 3)is ax+by + cz+ d =0. If (b —d)=K(c— a), then the positive value of K

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643515216 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

87/91



3/18/2021
THAA x -2y +2z-3=0 % FHIGL 991 T3 (1, 2, 3) | THE W W FAAA!] & FHIEHO
ax+by+cz+d=0 gl AR (b-d)=K(c—a), MK FFAHFTAE |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643515217 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The mean age of 25 teachers in a school is 40 years. A teacher retires at the age of 60 years

and a new teacher is appf}inted in his placc-. If the mean age of the teachers in this school

now is 39 years, then the age (in years) of the newly appointed teacher is __

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643515217 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

T Thel H 25 SATIH] FI SHd A 40 99 ¥ 1 UF ATE 60 T4 61 Y H FaT99 B & a0
IF e TF 74 AAF 1 i I ¢ A7g FE 36 WA § TS F1 a9
W AR g T U aAmmE R aAg (i H) g

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643515218 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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The number of times the digit 3 will be written when listing the integers from 1 to 1000 is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643515218 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1 H1000 TF F YR S Fa A @I a3, =R fom s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643515219 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The missing value in the foﬂnwing figurr_- is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 89 Question Id : 8643515219 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

et oot H seufer@am e

e
-

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643515220 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The number of solutions of the equation |cotx| = cotx

S1TLY

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643515220 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Haue [0, 27] T I | cotx | = cotx L & Tl F HE sy
sinx

Response Type : Numeric

in the interval [0, 2] is
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Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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